Pre-Calculus Math 11 Updated April 2020

Section 7.7 — Practice Questions

1. A hot air balloon is flying directly between two cities that are 4km apart. The balloonist finds
that the angle of depression to one city is 38° and 33° to the other city. How high above the
ground is the balloon?
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2. Two planes leave airport A at the same time in different directions. One plane lands at airport B,
630km from airport A. The other plane lands at airport C some time later. If the ZABC = 110°
and 2ACB = 40°, how far did the second plane fly.
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3. Two planes leave Victoria at 9 am. One plane travels due east at 500km/h, while the other
plane trave’lusdéﬁgkm /h N30°W. How far apart are the two planes at noon?
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4. In our solar system, the distance from the Sun (S) to planets A and B are 85 and 61 million
miles respectively. When 24 = 20°, how far is it from planet 4 to planet B and B"?
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Answer Key — 7.7

1.42km

921km

2969.2km

AB' = 133.6 million miles; AB = 26.4 million miles
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